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SECTION - A
i) General Awareness

The headquarters of the United
Nations is at

(A)
(B)
(C)
(D)

Geneva

Paris

New York
Washington D.C.

Which day is celebrated as United
Nations Day every Year ?

(A) 7" April

(B) 24" October
(C) 14" November
(D) 27" December

The Secretary General of the United
Nations is

(A) Kurt Waldheim
(B) Boutros Ghali
(C) U. Thant

(D) Ban Ki-moon '_ _'_

{Eﬂ Wna Halep
(C) Martina Navratilova

(D) Sania Mirza

NDA stands for

(A) Narendra Dominated Alliance
(B) Natural Dramatic Alliance

(C) National Dramatic Alliance
(D) National Democratic Alliance

8. Who is the President of Sri Lanka ?
(A) Mahindra Ranathunga
(B) Mahindra Rajapaksha
(C)
(D)

Sirimavo Bandaranayike

None of these

7. Which Article of our Cunstitutmn
abolishes untouchability®

(A) Article 16 3) " Article 14

% (D) Article 15

s % the following is known

N Q .pi€ work on medicine during

. “Gupta period ?
(A) Saumilla (B) Sudraka
(C) Shaunaka (D) Susrutha

9. When a mirror is rotated by an angle
8, the reflected ray will rotate by

® o ® 5
€ o (D) 28

10. What was the period of first five year
plan ?

(A) 1948 - 1953
(B) 1951 - 1956 ¥
(C) 1950 - 1955
(D) 1952 - 1957
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€ o
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10. el geETieF Ao i srafy wn o 2
(A) 1948 - 1953

(B) 1951 - 1956
(C) 1950 - 1955
(D) 1952 - 1957
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11.

12.

13.

14,

Ax

Which of the following kingdoms was
associated with the life of the Buddha ?
(A) Magadha

(B) Avanti

(C) Gandhara

(D) None of these

The sales tax you pay while
purchasing a tooth paste is a

(A) Tax imposed by the Central
Government

(B) Tax imposed by the Central
Government but collected by the
State Government

(C) Tax imposed by the State
Government but collected by the
Central Government

(D) Taximposed and collected by th
State Government

Australian cricketer died
on 27-11-2014 two days afm' haing
struck by a ball that led" o a
‘catastrophic’ injury wH&h proved
fatal.

(C)

(D) « Darren Lehmann

Union Government recently,
submitted a list of Indians
holding black money abroad to the
Supreme Court recently. More than
half of people are NRI's and most of
them had accounts with the HSBC
bank Geneva.

(A) 327
(C) 627

(B) 427
(D) 527

15.

16.

18.

20.

. Ustad Zakir Hussain is an exponent

L e

Which is called red planet ?
(A) Mars (B) Venus
(C) Jupiter (D) Mercury

The 2014 Nobel Prize for peace has
been shared by Ms. Malala Yousafzi
and

(A) Mr. Tendulkar
(B) Mr. Narendra Modi

(C) Mr. Kailash Satyarthi
(D) None of these Y

of which of the following musical
instruments ?

(A) Tabla
(C) Sitar

(B) Santoor
(D) Sarod

Who directed the film “Bombay” 7
(A) Shyam Benegal

(B) Meera Nair

(C) Shekhar Kapoor

(D) Mani Ratnam

18th Summit of the SAARC is held
recently in

(A) New Delhi ~
(B) Dacca

(C) Kathmandu

(D) Colombo
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12.

(C)

(D)

13.

14,

15.

16.

17.

19.

20.
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Rk i Fa AT |

(A) #t dgera
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(A) = faweft

(B) =R

(C) wrewg
(D) Frewr
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ii) General Intelligence and Reasnning Ability

2t

23.

24,

A

Which one of the following sets of
letters when sequentially placed at
the gaps in the given letter series
shall complete it ?

ZX -TR-NLJ-FD -

(A) VPHB

(B) VRHB

(C) UPJB

(D) VPJB

A man starts from a point and walks
2 km. South. He turns right and walks
3 km. Then he tums left and walks 2 km.

The direction he is now facing 5 oW i
® West

(A) East

(C) South {u) North

(B) IQNF

(C) |QNE

(D) JRNF

P is Q's daughter. Q is R's mother.
Sis R's brother. How is S related to P?

(A) Father
(B) Grandfather
(C) Son

(D) Brother

25. Find the missing number from the
given alternatives

6 9 15
3 2 5
g § A3
749
(&) 10
(C) 11
26. Accept: @m:?
o @ (B) Nice

(D) Says

29 is in ‘calf' is the same way as ‘d’ is
in

(A) Said
(C) Done

(B) Bridge
(D) Card

28, Find the word that cannot be formed
from the letter of the word

“PUBLICATIONS".
(A) ACTION (B) PLANS
(C) CLIPS (D) LOCATE.

29. Find the missing date.
6/1/71,23/1/71,9/2/71,26/2/71,7
(A) 5/3M7 (B) 10/3/71
(C) 15/3/71 (D) 14/3/71

30. IfB=2, CAP=20,ANT =35 TAP=7
(A) 36 (B) 32
(C) 28 (D) 37
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i) T gfgaen au arfds gram
iihinba S I ISR T | ———
T yaen & Rfwwdt § 0 & vad @ w FTRY
oo gt ? 6 9 15
ZX - TR~ NLJ - FD - R pR. ... 5
g 5 13
(A) VPHB B s
(B) VRHB (A) 10 (B) 12
(C) UPJB © 11 {ng:
T 26. Accept Em®%
T et w T @ e g (A) Peace (B) Nice
et 3w 2 . ot wean R | am i (C) Riee @ (D) Says
R gt 2 i 3 FF. . wwm )
S et s 7w b ‘calf 5 1 2 3 v ‘g 3o B
e g2 @ R o e 2 Said (B) Bridge
(A) ‘E‘ ®) qﬁ??n (C) Done (D) Card
©) =R (@) IR, | 28 “PUBLICATIONS" ez ¥ wiesil @ 3
IRk WIND I YKPF o smar 2, 4
, (A) ACTION (B) PLANS
B >
m%ﬁﬁﬁ; R (C) CLIPS (D) LOCATE
(A] IQFN u j‘h} [ (B] IQNF
(C) IQNE (D) JRNF 29. AT aRRE AT e
8/1/71,23/1/71, 9/2/71, 26/2/71, 7
PRQHIad2iQaeRFai (A) 5/3/71 (B) 10/3/71
STERFIRE | IRSHFPAF o ? ©) 15/3/71 (D) 14/3/71
(A T K
30. FfEB=2%, CAP=20%, ANT=35%,
\B) " @A TAP =2
€ ¥ (A) 36 8) 32
(D) =i (C) 28 (D) 37
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31. ABCDEFGH are sitting in a circle, not
necessarily in this order, facing the
centre. B is sitting directly opposite to
‘D’ who is sitting second to the half of
A who is between E and H. B is
between E and G and F is between
G and C. Who is sitting second to the

left of F 7
(A) A B8) B
) C D) D

0 O O R

36. (A) 27
(B) 125
(C) 60

(D) 8
37. Inthe alphabet ABCDEFGHIJK
LMNOPQRSTUVWXYZ
which letter is sixth to the right of the
letter which is 18" when counting
from the last letter ?

32. Sisyounger than P but older than Q.
R is an old as P but younger than T. (A)y O 'ﬁ‘% P
i 2 o
Who is the yougest 7 ©) N %‘%}? Q
OF v e
i ©)a 38. ABC istR With’ | B =90" name the
33, If'+’ means -, 'x' means ‘', - o :i%a.ABC I Fotetaa
means '+ and '+' means ‘x’. S )
125 6x2-2+5=7 4 £ ) () Cylinder (B) Sphere
(A) 20 (B) 26 A )\},_, (C) Prism (D) Cone
(©) 10 (D) . “’*ﬁf
A Directions (39 —40) : Substitute the question
34. Diagonals AC and B&aﬁ g W ina mark by choosing the appropriate alternative .

rectangle ABCD. How many triangles
can basaan in this rectangle ?

Dﬂwmﬁ { — 36): Identify the alternative
which does not belong to the group of the
other three.

35. (A) Rose
(8)
(C)

(D)

Champak
Jasmine

Garland
A*

39. Ear:ring:: Nose:?
(A) Necklace
(B) Stud
(C) Anklet
(D) Bracelet

40. 4,9,16,?,36
(A) 20
(B) 26
(C) 25

(D) 30

-10-
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31. ABCDEFGH 3% Us 91 H 38 -3 1
s afmE e ad? | S 2 e
siEnda2? | BEw DFHE fulia 2

1 AF R AN, MEHHF
a2 IBREIMGHAEE I FIE
GawCcHfa | FHaddi IR
AW FAASIR ?
(A) A
(C) C

(8) B
©) D

32. STPATRHBAL S QI ==
FRmPEITATEARATE
PO TR BAFAR?

{A) R B T
€ P (D) Q

33. afR' . winAdE 'R, L F A
2, '~ = v 4 8 3N '+ % Hood

'R, @

12 :6x2-2+5=7

(A) 20 (B) 26

(€) 10 gﬁj ’ta
34. ABCD SPA®AGC3y Bnaﬁrﬁawf

fig k| 3w o ¥ e Bepior s

e ! ]

(A) 4 (8) 6

(C) 8 Dy 10

o391 (35 - 36) ; 3 o = WY § WY A
a4 T 1 TEEE |

35. (A) O™
(B) =
(C) VRl
(D) =
Ax

36.

37.

38.

.% & ud

W © S
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(A) 27
(B) 125
(C) 60
(D) 8

ABCDEFGHIJKLMNOPQR
STUVW XY Z Jvigmen ¥ sriad
e | Firrelt o 5T 18 31aR o il
#ﬂmmﬁamm%

(A) O

(C) N

ABC¥z 1 al‘ﬁéﬁ B=90 2 5%

AAB --='?': o AB 3181 %E‘tﬁ R YHE]
b S 39 BT ST £ |

(B) e

(D) ¥

Tdw (39 - 40); 3faa fawen e wea Fem i
SR W e i |

39.

40.

11-

EE B T | B 1 = T
(A) BR
(B) ¥s
(C) ™
(D)

4,9,16,7, 36
(A) 20
(B) 26
(C) 25
(D) 30
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iii) Arithmetical and Numerical Ability

41. 20 men can dig 40 holes in 30 days. 46. PA and PB are two tangents drawn

(A) 12 days (B) 13 days | ACB = 80°. Find | APB
(C) 15 days (D) 10 days (A) 100°
(B) 20°
42, If2x=3yand2y=38zx:z=" (C) 160°

(C) 4:9 (D) 9:4
| DCE=100°,
43. Find the amount deposited for which 1
quarterly interest at 8% p.a. is Rs. 400. _
(A) Rs. 2,000
(B) Rs. 20,000 5"” W (c) 160°
(C) Rs. 8,000 y (D) None of these
o i 48. The elements of the principal
' diagonal of unit matrix of order 3 x 3
44. The ratio of the radii of two circles is are 1, x and 1. Find x.
o o ﬁﬁye ratio of their areas ? (A) 3 (8) 0
(A) 248 (B) 4:6 € 1 (D) 2
©) 4:9 L 49. The shop keeper marked the price
an article 20% above its cost pri
45, John walks 3 kms to his North. From and allowed 10% discount. What is
there he walks 3 kms to the East. From his percentage of profit ?
there he walks 7 kms to the South. (A) 10% {?] 12%
How far is he now from his starting (C) 30% (D) 8%

A%

How long will 25 men take to dig 20
holes ?

(A) 2:3 B8) 3:2

point 7

50. Findthe negative rootof X2+ 2x—35=(
(A) 4kms (B) 3kms A) -7 B) -5
(C) 6kms (D) S5kms (C) -2 (D) -3

-12-

from P to a circle with centre '0". C is
a point on the major are AB.

(D) None of Ms@ﬁﬁ

A :
adrilateral. BC is
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25 ATEME 1 20 @§e @E 7 o PA 3R PB ¥ &1 9515410 2 | 9@ 917
5 e 7 AB T C ' s fasg 21 3R
(A) 12fe (B) 13f ACB = 80° 2, 1 | APB a1 FifSm |
() 15 ) 1of (A) 100°
(B) 20°
42, ?Iﬁzxzﬁy%aszy=3:%,?ﬁx:z=? (C) 160° z
(A) 2:3 0) wawda 4D
B) 3:2
C) 4:9 47. ABCD7E UF §e{3 =g # | BCHI
(D) 9:4 E .7 yegge g man® | | DCE = 100°
e SOy o PN o g
¥ o e o i 2 @ 80
A) ¥.2,000 N ®) 100°
{ } ol | .:.-'5' (C] 160°
(B) ¥. 20,000 (D) = A FE 74
(C) %.8,000 - o
48. 3 x 39 Ao
(D) % 32,008 ¥ 7o 1, xa‘a‘mtlxaﬂwml
: ~ M B (A) 3 B) O
44. F IR IS w1 SO 2 : 3R, & © 3 D) 2
I B &1 ST A
(A) 2:3 (B) 4:6 49. Wammmam
{C) 4:9 (D) 3:2 Eﬁ'ﬂﬁEﬂ%ﬂNﬁﬁﬁT@ﬁaﬂﬁﬂ%
& | 39 AT 1 gfana w7
45, WAIw A 3. . gward (T A (A) 0% 0 1&%
(C) 30% (D) 8%

8 qd i sin 3. . gem 1 TRT R

Tl Al 3R 7 . ofi. 9o | o 50. X2 + 2X — 35 = O T VT qet Tl

T I g A Frefi g wd 7 Fifan |

(A) 4%, . 8) 3f. . (A) -7 (B) -5

(C) 6f&. . (D) 5. . (C) -2 (D) -3
Ax A%
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A person casts two fair dice once.
What is the probability that the
difference of the numbers on the two
faces will be “0" (zero) ?

(A) (8)

@i )=
Wi o—

(C) (D)

How many diagonals can be drawn

in a polygon with 9 sides ?
(A) 24 (B) 25
(C) 26 (D) 27

A person travels a distance of
48 km. at 24 km/h and then returns
the same distance at 16 kmvh. Find

the average speed of his to and .
(total) journey. y?
(A) 20km/h T o A
(B) 19.5kmh . =
- W
(C) W
(D) 136
_.'f-??

Ak + [3k— 2k~ (k—3))] =7
(AY 6k -3 (B) 6k+3
(C) 2k-3 (D) 6k-2
Find the HCF of %. %. %

3 a0
(A) 5 (B) 64

30 1
© 7 @ 3

56. Iflogsy14=1.1461, whatis the value

of logy1.4 7
(A) 2.1461 (B) 0.1461
(C) 1.461 (D) 14.61
" 98.5% - 1.5°
7. “gB5-15 -
(A) 99.2 J@Q?
i,
(C) 100 y ‘;ﬁﬁr- ) 98 |
)
58. Ajay uw{g@s ares of acompany.

Ihe, fage value of each share is
‘;‘\}i, & JII?_:.'-'__._.
- RA8./25. The company declares a
@uidend of 9%, Calculate the
dividend that Ajay will get
(A) Rs.1,260 (B) Rs. 1,250

(C) Rs. 1,200 (D) Rs. 1,275

59. The area ofa squareis 1225 cm?. Find

its perimeter.
(A) 150cm (B) 140cm
(C) 125¢cm (D) 180cm

B80. Three circles with centres A, BandC
touch each other externally. If the radii
of these circles are 3 cm, 4 cm and
5 cm, find the perimeter of A ABC.

(A) 20cm (B) 12cm

(C) 60cm (D) 24cm
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51. u% =i 2 uid wF o 3 w2
Wﬁmﬁm“ﬂ'ﬂﬂ)
& Il BT R 7
1 1
A 3 (B) s
3 2
© 3 © 3
52. Ol I wRYE ¥ e Rl @iy
SEFAE ?
(A) 24 (8) 25
(C) 26 (D) 27
S3. @ il vl 4 . . B o
24T 3. /5218 7 e i R
16 5. W o @ o s 2
m@smﬁmﬁ%mﬁ(fa)qpaﬁr
FHea nfa 2
(A) 20TF. . /57
(B) 19.5fF. 4, /xz
(C) 19.21%#{4.’?2'2[
(D) 73 % 3,
54, 4k [33_‘;---4_2&_: {k— 3 =2
(A) 6k-3 (B) 6k+3
(C) 2k-3 (D) 6k-2
5323
5. 52 g ¥ uwHTS vt Hifdry |
3 30
A z B o
© 2 © 5
A=x
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56. 2 log,, 14 = 1.1461 2, At log,,1.4
F AR ?
(A) 2.1461
(C) 1.461

(B) 0.1461
(D) 14.61

98.52 _ 1 52

LLE 985-15 ~°

(A) 99.2
(C) 100

S % T T A 50 Sk
Hﬁﬁmiﬂm‘ﬁﬂﬁasﬁlm

i
L= -

(€) %. 1200
(D) %. 1275

af3 o 77 o1 S 12058 1 2 ER|
STt it e Hifsre |

(A) 1504, =t

58.

(B) 140%. 4,

(C) 1254, ft. (D) 1604. 1,
A, B 31 C %73 % 17 97 27199 # Ay
ﬁmﬁm%lﬂﬁwqﬁﬁﬁwﬁ 2
FHT: 341, 48, 1t 58 g,

ar A ABC %1 ftfy e #ifiye |
(A) 204, 4, (8) 124, .

(C) 60%. . (D) 2474, 1,
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iv) Test of Language : Hindi
wTaT Wi : =

T e saRsm IR E s | 65 s wdam g we s aid |
o g I et | BieT ag Hifer |
61 & 64 =7 T Tt e e & vl A (A) (B) T
L I (C) &M (D) =8
61. (A) S

®) 66. wHia1ves = T

() FRR (A) O |

(D) $RE
62. (A) €q3H

(B) &g

(C) Whg

v

(D) &g *M
63. ‘
64. (A) FFEM 5

(B) gsmhq 70. aﬁmma@mm%

(C) TEWEM (A) 2 (B) i

(D) TEHEm (C) ardrn (D) 2z
Ax 16
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71, CdEE FE F FEAE | 76. UIE I@HATH i Fea s
(A) FR (A) IATTF
(B) frem (B) W&
(C) F=W (C) I
(D) SRl (D) FEw

72, “‘TEEIEEBTEl 39w 3 2 77. gE1¥eR F1 fregudE weE R
(A) S (A FB >

s i s &

St

(C) =HE
(D) 39

. MAE HGRATRITER
(A) HaHH

(B) ITEiIRw

(C) HAAAH

(D) amoft

75. TV Y163 %1 GETTHE e B

80. ST YTEE T WIHATH H1 89 8

(A) EHH A) o X
VR e (B) =HEd
(C) T (C) sWEa
(D) =g (D) =mpEd
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81.

B2.

83.

v) Test of Language : English
aret gfteyer ; s

Directions (81 — 83) : Find out which part
(A), (B), or (C) of the sentence has an error.
If there is no error, you answer is (D).

The house with all its (A) / furniture
and exotic plants (B) / were sold for
Rs. 60 lakhs (C) / no error (D).

Many a student (A) / are frustrated (B) /
because of unemployment (C) / no
error (D).

They walked (A) / besides each other
(B) / in silence (C) / no error (D).

Directions (84 - 86) : Choose the correct
alternative 1o fill in the blank.

84,

B8,

87.

A*

1Y

Pt
-
i .

There is an exception

every rule. ),
(A) by (B). b
& v

© ® O

The accused e B P that fie had

met the deceased before.

', (B) denied

(C) | define (D) exclaimed
ey

Inereased population one

of the major reasons for poverty.

(A) is (B) are
(C) have been (D) were
Choose the misspelt word

(A) alternative
(B) alltogether
(C) allusion

(D) allowance

88. Choose the alternative which is
opposite in meaning to "CONCEAL'

(A) converse (B) conduc!
(C) show (D) recall

89. Choose the alternative which bes
expresses the meaning of "RAGE".

(A) rank B) rule
R ) anger

(C) care

exp he meaning of the idiom
p rage given in capitals.

L

- \1;;"
90. Cho:%\ ernative which bes

women are so jealous that Al
HE DROP OF A HAT they star
insulting each other.

(A) when a hat falls

(B) when any one drops a hat
(C) for no reason at all

(D) onimportant occasions

91, Choose the alternative which is thi
same as “A substance used a:
medicine in the treatment of disease”

(A) crew (B) drum
(C) pride (D) drug

92. The noun form of “EXAMINE" is
(A) example (B) except
(C) examination ~ (D) result

93. Plural of ‘city’ is
(A) citys
(C) citis

(B) cities
(D) cityes



a4. “Vikramaditya was the greatest judge
in History". Change this into positive

JDD-44/TGT-SANS/X-14

Directions (98 — 100) : Read the belowing
passage and answer the questions given

degree. below the passage by choosing the right
alternative,
(A) Vikramaditya was a greater judge sl gidin
in History Aside from the construction of tombs,
. : : _ | mosques and other buildings, the Adilshahi
(®) Vtrkramad[tya was & great judge in rulers paid great attention to the construction
History of waterworks. Indeed it became imperative
(C) No other king in History was as | to devise arrangements of a long-term
great as Vikramaditya nature that would supply water to the city of
Bijapur. This schemes were so ingenious it
D) Vikramaditya was not as great a
©) judge in Hist ¢ is hard to believe that what we know today
= s as a city with perennial water préhlem could
_ have been so lavishly proyided with water,
95. “The last angel had explained the | notjustfor essential purpeses, blt also to fil
mystery”. Change this into passive | the tanks, fou s and artificially
voice. constructed charfnels ofthe residences of the
(A) The mystery was explained by the rulers and their noblés and for the countless
\ last anga! oth@r p Lﬂ:lings.
(B) The mystery had been explained |y %‘Fhe writer says that the Adilshahi
by the last angel A1 rulers
(C) The mystery has been ex * (A) built more tombs and mosques
by the last angel Hh than water works
L ¢ buildings only
96. (C) built tombs, mosques and other
buildings as well as water works
(D) did a lot to consiruct huge dams
99. *These schemes” refersio
(A) palace, intrigues
(B) water supply arrangements
97. Fill mﬁthe blank _wnh the most (C) irigation facilities .
BpRIopsoe altafnatwe. , (D) construction of dams
Indra was deprived his
celestial kingdom. 100. The word ‘ingenious’ means
(A) of (B) at (A) faulty (B) scientific
{C) into (D) for (C) primitive (D) naughty
A= -19-
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101, HEFEE W T F: ¢

T R
SECTION - B
ar -

Post Specific Subject-Related Questions

(A) Fraomestery;

(8) =R
(C) ST
(D) AR,

102, a’qﬁsrﬁma‘tmmmﬁﬂ?
(A) STRIFHIIFE,

(B) EHEREEETH
(C) SIS
(D) eEmEiEy

f03, wTEMIER? o)
{A} m g .'it-l':.-."

4

oz eafafes freg g o
105. srfEest =i ¢

(A) w4

(B) %<




Ve

o

|

110.

’- 111,

112

A=

“wyofrare; wftaes: wee: ey sl
e 7

(A) ST
(B) WHHA
(C) Fremdm
(D) e

watamy yretaferd g e ?
(A) ZEAPHE

(B) el

() st

(D) e

(A) mﬁm
(8) mﬁmﬁmﬁ
(C) AN T
(D) Wm

- SoTrTe T e e TR 7

(A) FEEH

(B) VI
(C) HAudIeH

(D) FOELITH

113.

114,

116.

JDD-44/TGT-SANS/X-14
‘T’ f yeee getfava wwae
o 7
(A) &
(B) ¥=m:
(C) ==
(D) &AM
o 7

é‘!ﬁ%ﬂmﬂ:’iﬁmzmm

mﬁ%mmm? 0&

T o 7

(A) =i

(B) &=

(C) &

(D) =fa

‘R 9l T 37 afear: IR
&: 7

(A) Zfor: -
(B) Zmm

() =

(D) ZNTEA:
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117. FATEEERERERES FHi a: i 121, ‘aormr: e fi g R e I

@A) R T

o e (A) TR

(. A (B) PR

(D) T © Fma
(0) AwfrEfE

118. Wﬁmaﬁmﬁﬁ?

) ‘a3 e Fi s w i ?

119, THETHETERA ;e T: 7

120. famgﬂnaﬁaﬂ{ o 1 e T 7

A* -22.
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125, Fae s W= wf 7 129. Iufed , woradian, SRS Sdw A=
] I SHEEN: ¢
(A) ‘443
(B) %ou4R _{h) {
(B) wvlEEg
(C) ¢44R
| (C) vRawaY
(D) 2244R
(D) TwEIH
126, I3 WEAd wut wfar wfEeare A ! _
o gy e e 7 130. SRR 3G HEETH (A, 7 &
(A) TTHFE
(A) =vEiTaEy o
(B) WL,
(C) SYSHTIIAFH
(D) ey

127. AsiieRma Zeamion id ¢

(A) §<

TR __ 1 \-
om D
O = [
128. dATFAGIIES VadH: F; ¢ 7 vty ?
(A) =wETE: (A) IS
(B) YFEH: (B) WAH
(C) =f=: () ffew
(D) essIfer: (D) =UH

Ax 23
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133, Bffscrmamh R e wEfR 7

(A) W<

(8) ==

(C) =@

(D) 7

134, WS MR , TN @fed He b

wTq: 7 Teta 7

(A) ¥ ETEH

8) FRRIE

©) FFAF

(D) @&

135, TR 7 9 T 2

(A) T,

(B) F=hgEH
(C) T,
{m M

1386. Wm - ‘arE STl ST
errEaT aeEE Seiad, A g
GEULE

(A) TEETEEIH

(B) TEHAHUH,

(©) @@ A v

(D) Tarfrse e
Ax*

-

A O O

137, A R TR AT | ST
Hfa ¢

138, =ved Am e 7

140, SRR TERNE I 7 I 7




(Y0 5 O e
‘T 9% 5o SRR ?
(A) ® TR

(B) I9mr

(C) .

(D) dftorm:

141,

142,

Tt i 3w aw 7
(A) Frawea

(B) mEEEy

(C) vaeaw

(D) FH<adT=

HETIT %1 T WOH: 7

(A) ®E&=:

143.

(B) I
(C) dh:
(D) a4

(A) frfor
(B) Wk
(C) w=

(D) wg
Ax

144,

145.

146.
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"IET VTR e FISTER: 7
(A) 7w
(B) Tm=y
(C) wom:
(D) aife:

dredueen 3f T o fe 2
(A) FETEEREER
® =mEas
© s
@), Ty

¥ %4

142%% %17

148.

’{A} AT

(B) wFregHimiET
(C) ferfimimn
(D) wrfEcaiaiE

reaey yiK fay 7
(A) vre=Td
(B) 4:

(C) U
(D) =uEwaTd:



150.

151.

152, SR SaTET Ef: 3 §egeAd 7

153.

156.

A% 26

| 00 00 0 0 O
Y TGETET: i ?

(A) SER:
(B) ==

(C) 9

(D) &=



0 S 0 e

157, IeENEIETHR So0m Ieermreae Srse. 7

(A) Fed dgom
(B) wnyETy
(C) %3 Franafefy 5um:

(D) \TaROTE: % 3fd FEa
158.  HRTEr ues SmTor war e 7
(A) TR .

(B) sreamgsde! il
(C) TETI=RYe! g,
(D) Hgfyrdr o,

159, 9% TEFN: T wafy 7

(A) avfemEe g

160. 2o 7o weedt Frget ? .

161. WERH=A Figey 7

Ax

(A) 9T,
(B) WS T,
(C) waEtwaam
(D) aw=n S :
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167. IEmfashieasa wavl & 7
(A) HTFETEE: TE:

Twfashifea |

168.

169.

170.

171.

172.

173.

174.

N BV R
AfearTel T ST T E:
U 7

(A) T HERRI
(B) Y HEHRI
(C) TR HEFRI
(D) ST HERHI,

yreAfET: dey o g ?
(A gt
(B) wfamfe:
(C) whemfa:
(D) FEf:

TSI ST 18 SGT: ST
(A) TSITIETF:

(B) FFHAETH:

(C) S

(D) FHYA:

shrgan: firear: Frmet 3wl waf= ?
(A) SEAFAESL:

(B) ITETEEH:

(C) wask™

(D) FEEdFaIITH:



176.

177.

175.

st ?

(A) sTERETTED
(B) eRemaed
(C) Af=FMmemeh
(D) AwEmfg

e g ST 31refiq 7
(A)  STHTIR

(B) w@wm=m

(C) wweATenF

(D) Fmm

R RTaTare iy Fw w: 7
(A) e=aTey fEvermn;
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179.  3ufaf sty fiva: R wmg s
g 7

(A) R
(B) srafema
(€) Ty
(D) R

180, forem: =fa fum. wfF 7

(A) =gEn 0&

(B) Ys=Es C
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183, e TEEE B 7
(A) wFH
(B) Teremdf

185, Frgam e Hienf= wE:
(A) & s=fdm (Tution) T8

(B) 4wl wE

189,

191.

188, FRTETHETTAET R 3 2 B 1

() ey
(B) TIETIBEY
(C) =My
(D) w=EfeEy

i gty = e = T 7

(D) BTA: HaT FIgG YA |

e sherfig Fverer: R T 7

(A) FeaeEH 3T | |
@) R s A |

(©) W aTEE |

(D) SR IeaH T A |
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192, FHW] SESHTIENE FIGHAT: F9 197, o B Feg Fok: vame B ?
qEl? - 2 :
s A) g ey sifim e |
(A) wEw: & e
®) whE: (B) ¥4 STA sHERRSEdATE 5T |
(C) SET AT (C) W= HE grs: fe=afae |
(B} s vy (D) Fuwfy |
193. TETET SN ST 33 -3t ufafe: |
(A) T 198. wwW ‘faeneraed wAla: Fa watd ?
(B) T (A) 7 e
G (B) wnwﬁw;m%qm
(D) wEFqE™
; (©) ﬁ@ﬁm
194, HTE TEHASIEFE WL SFAH T,
Tae @1 W'“mm
(A) @ ¥ T A T | ﬁ'ii"'ﬁmi'“”%‘E“ﬁ‘g”e@ﬁi
(B) gﬁgﬁ ' m mwﬂﬁw
(C) Tewr A foaaf= | e,
(D) Iwde werafy ol wafi ' (A) ST ATfed
8 (B) TmA
() wHaFRafy
(D) 3w
200. =W ufta: |y yeERe Y S
390 394 7
(A) AyerEmwr: demavem
(B) ITHITILOR ST
(C) THMH IHTSTHY
(D) wifaFEeETE: THeaT
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11.
12.

This booklet contains 32 pages.

Please chﬁck all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for reptacement of the Booklel.

. Directions : Each guestion or incomplete

statement is followed by four aiternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue / Black Ball-Point
Pen against the question concerned in the

IMPORTANT INSTRUCTIONS TO CANDIDATES

srfreamt & fero wewrgot argayT

1. TWyEEm A 32T |

12. A ofer e i s Pt (3R
ik 2 2, A Pt 1 98 e F o #R |

13. Frdw ; YEI TR S9N T 3 e F IR
TR TR YT T A A T E | e 2
i o el e %1 A1 & S 9 1 EE 3T
3 SeE FUA F1 0 L 3R SR IR -
i 3uges T i A, B, CA D& fw @
FTe AT@-91%E ¥9 § He {?;m% i

Answer-Sheetl. (For V.H. candidates (zfeanfis Tafrzar & oo T
corresponding circle will be blackened ¥ o |
by the scribe) e v shren T =)l G,
14. Mark your answer by shading the appropriate | 14. @ e & & 3fad ST 0 ST
circle against each question, The circle should S
be shaded completely without leaving any space. e ford Hﬁﬁ 0 w1
The correct method of shading is given below. foreifa #0171 EiCRcoiuoii
Wrong Matred |[Wong Method | Wieng Malhod || Comect Mathod e wles || Wl
ol 1e¥e] [s]=1elle] (el OXekel (o Xele % . 0@ C0j0e00
The Candidate must mark his/her response AT 3 S e R
after careful consideration. i 1!11%"1 |
15. Thar»: is ?fnly o;s c“f}r;rc:kans{:ﬁ;o rgai_:h Wﬂw%ﬁﬂﬂwﬁ e
question. You should blacken e ci : Sy .
of the appropriate column, viz., A, B, Ghrm “’:{ﬁ“ #fem sy A, B,C T D * ﬁEEET{‘ ;
I you blacken (@) more than gne cifcle AR W e (@) FET R | af s R wE
against any one gueslion, &ua.-nswaf ugjl['he anT v U wE e @ F W (@) Al
treated as wrong. If you maﬁi!c cancel any S 1 7 B SR
answer, you should complgtely erase that black :ﬂwm?ﬂaﬂma RIS SR 4
mark in the clieie,in the Answer-sheet, and AT S § A 31 I - ¥ I e
then blackegifhgiiile of Svised response aREwe AR wE E e s T
186. A maching: vl -__,.-:'{1"' coded information 370 foru TR R F S |
in the OMR "Answer-Sheet. In case the >
information i$ incomplete/different from the | 16. 10R. 3, IR H 5 T g2 g A O
info or glven in the application form, the nefr et | afg qae i R HuE AEE T T
candidature of such candidate will be treated : .
&t e @ i 2, A 08 anaefi o s
as cancefled. i)
17. Use the space for rough work given in the s et et | _ S
g;::::icn Booklet only and not on the Answer 17. w=dt % % o e v T % o T YR
] | e e O e 0 A |
18. Youare NOT required to mark your answers )
in this Booklet. All answers must be 18, 3@ qftaet & = ATTEH! I Afewa TEt
indicated in the Answer-Sheet only. wa | T FAE I-uEE
Go through instructions given in Page No. 1 (Facing Page)
Ax -32-



